


ENGLISH LANGUAGE

ENGLISH LANGUAGE

QUESTION 1                                                                                                                   Right mark: 1   Negative mark: 0.25

In the following question, a sentence is given with an idiom or phrase 

highlighted in bold. Select the option given below that replaces the 

phrase or idiom in bold/underlined and mark that as your answer. 

Ignore punctuation errors, if any.
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Q1. The people who get on in this world are the people who get up and look 

at the circumstances they want, and if they cannot find them, make them.

1. Look out

2. Look for

3. Look after

4. Look forward to

5. No improvement
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at the circumstances they want, and if they cannot find them, make them.

1. Look out

2. Look for

3. Look after

4. Look forward to

5. No improvement



ENGLISH LANGUAGE

ENGLISH LANGUAGE

QUESTION 2                                                                                                                   Right mark: 1   Negative mark: 0.25

Q2. Isn't it amazing that the boss gave me the project's lead? Finally, I can 

present a campaign with my own vision!

(RBI GRADE B 28 NOV’22)

1. Drive me out of the office.

2. Bang my head against a wall.

3. Gave me my head on this project.

4. Beat the project into my head.

5. No improvement
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Q2. Isn't it amazing that the boss gave me the project's lead? Finally, I can 

present a campaign with my own vision!

(RBI GRADE B 28 NOV’22)
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Q3. No witnesses to the accident have come forward yet, despite the police's 

appeal.

(RBI ASSISTANT 26 MAR ‘22)

1. Came forward

2. Comes forward

3. Have come forward

4. Has come forward

5. No improvement 
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Q4. The detective is grasping in straws because through surprisingly enough, 

there’s practically no evidence at the crime scene.

(RBI GRADE B 2017)

1. Grasp in straw

2. Grasping of straw

3. Grasping in straw

4. Grasping at straws

5. No improvement
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Q4. The detective is grasping in straws because through surprisingly enough, 

there’s practically no evidence at the crime scene.

(RBI GRADE B 2017)

1. Grasp in straw

2. Grasping of straw

3. Grasping in straw

4. Grasping at straws

5. No improvement
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Q5. When the customer started complaining about the deterioration of the 

quality of the product, my senior vanished and leave me holding the baby.

(RBI GRADE B 2017)

1. Leaves me holding the baby

2. Leaving me holding the baby

3. Left me holding the baby

4. Left me hold the baby

5. No improvement
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Q6. The outcome of the contest was completely unpredictable, so we decided 

to play off by ear.

(RBI GRADE B 2017)

1. Playing it by ear

2. Play it by ear

3. Played it by ear

4. Plays it by ear

5. No improvement
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Q7. The roads rendered uneven due to potholes on the stretched or higher or 

lower manholes make it a risky ride for motorists in the city.

(IBPS CLERK PRE - 2021)

1. As the stretches or highest

2. On the stretch or highly

3. On the stretch and higher

4. On the stretched and high

5. No correction required
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Q7. The roads rendered uneven due to patholes on the stretched or higher or 

lower manholes make it a risky ride for motorists in the city.

(IBPS CLERK PRE - 2021)

1. As the stretches or highest

2. On the stretch or highly

3. On the stretch and higher

4. On the stretched and high

5. No correction required
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QUESTION 8                                                                                                                   Right mark: 1   Negative mark: 0.25

Q8. The union ministry of urban development has expressed alarmed in 

practice of state governments and municipal bodies to completely concretize 

the space around a tree in the footpaths.

(IBPS CLERK PRE - 2021)

1. Alarm over practice of

2. Alarming over practiced of

3. Alarming but practice of

4. Alarm as practice off

5. No correction 
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(IBPS CLERK PRE - 2021)

1. Alarm over practice of

2. Alarming over practiced of

3. Alarming but practice of

4. Alarm as practice off

5. No correction 



ENGLISH LANGUAGE

ENGLISH LANGUAGE

QUESTION 9                                                                                                                   Right mark: 1   Negative mark: 0.25

Q9. Forest department must put up sign boards on every stretched where 

wild animals are found in good numbers.

(RBI ASSISTANT PRE - 2020)

1. Put up sign boards stretches on

2. Put up sign boards on all stretches

3. Put down signboards at every stretched

4. Put forth sign boards on every stretches

5. No correction 
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Q10. Now that China is part of the TIR picture, goods can be shipped from 

some of the biggest manufacturing centers in the world more rapidly and 

cheaper.

(RBI ASSISTANT PRE - 2020)

1. Goods can be ship from some of the

2. Goods can shipped from some of the 

3. Good can be shipped on some of the

4. Goods can be shipped from some of a 

5. No correction 
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Q11. In the last few days, the level of Ganga water has depleting to such an 

extent that the river water at several Ghats has dried up completely leading to 

the formation of huge sand beds.

(RBI ASSISTANT PRE - 2020)

1. Has depleted to such an extent

2. Has deplete to such as extent

3. Have depleting to such an extent

4. Having deplete too such an extent

5. No correction 
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Q12. While summer is the peak time for manufacturing cum production of 

items, the electricity on the same period start playing hide and seek with 

the industrialists.

(RBI ASSISTANT PRE - 2020)

1. Electricity in a similar period starts plays

2. Electricity during the same period starts playing

3. Electricity for the similar period played starting

4. Electricity playing start for the same period

5. No correction 
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